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T
ws of ability
tal view of ability,
(1) It often imphes enhanced extrit
(2) It often implies enhanced intrinsic motivation tal view of ability,

(3} It often implies enhanced intrinsic motivation

Z. Inclusive classrooms -
(1)  Aim to remove all kinds of differences among the children.
(2} Recognize that every child will learn at the same rate and at the same time.
(3) Is an educational program offered to cater to the needs of ‘special children’.
(4)  Are meant to offer differentiated instructions as per individual differences.
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3. A key commeonality in Piaget and Vygotsky's theories is :
(1) / The role of culture in the cognitive processes,
(2) Their views of relationship between language and thought.
{3) Focus on stage-like progression in children’s development.
(4) Involvement and engagement of children in their ow
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4. Assertion (A) : During adolescence the pressures to conform to gender expectations and follow

conventions of feminity or masculinity increases. =i

lieast:m (R): Gender and gender roles are determined biologically.

Choose the correct option,

(1) Both (A) and (R) are false.

(2)  Both (A) and (R) are true and (R} is the correct-explanation of (A).

(3)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4)  (A) is true but (R) is false.
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discouraged and ‘shame’ is encouraged.

0
5.  Assertion (A) : In Asian cultures which stress _sacial harmony, expressions of "anger’ are
Iﬁh}' any role in learning,.

Reason (R) : Emotions are subjective and do

Choose the correct option. '9))

(1) Both (A) and (R) are false.

(2) Bath (A) and (R)jare true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) / (A) is true but (R) is false.
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b. Which method did Lawrence Kohlberg used o .stufi}f e

() Experimental method

(<) Quantitative research approach

() Pusing moral dilemmas to children and emal?lfﬂnﬂ responses

{4) Conducting observations of children during play R—
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>
i According to Lev Vvgotsky what is the relationship between language and thought ?
(1) Language and thought are complex interrelated processes of development

‘ .
(2)  Language does not shape thought .

(3) Thought shapes language O

(4)  Language and thought are independent of each other
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8. Change and stability in emotions, personality and social relationships together constitute -

(1) Cognitive development (2) Persunalit}r deveIUpment

(3)  Emotional development (4)  Psyehpsocial development
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10.

Assertion (A) : Teachers should give lot of opportunities to children for experimentation and

discuss examples and non-examples.

A constructive way of dealing with misconceptions in children 15 to Pr'-’"id'*"

counter examples.

Choose the correct opton.

(1] Both (A) and (R) are false,

(2)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(3)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4)  (A) is true but (R) is false,
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Reason (R) :

P
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Students struggling with dyslexia can be taught to read
(1) Through association method of conditioning.

(2) Through systematic phnn:ﬁnﬁcal training.

(3) By providing higher grade jevel reading texts.

(4) By giving long and complex. passages.
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rovide experiences that require students 10 classify different
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k= ¢ mp e lyse their classification schemes ?" Which intelligence

pes of objects i {he environment and ana
is she trying 1o promote in students 7

(1) Bodily- Kinesthetics [ntelligence (2) Linguistic Intelligence

Naturalistic [ntelligence

elligence. (4)
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13.

14,
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Which of the following is a correctly matehed pair Il as detailed accounts of
£o1s ) L 4] tests as well ar & : o o
(1) Summative assessment : involves paper - Ppnu[ tesls o
written behaviours

. astery of specific topics
referenced assessment ; includes mastery of s

(2)  Criterion
% : . s -mance o th
(3)  Norm - reforences assessment ; compares performanc

. 5 T PR » before anc
Formative assessment : determining what the students can dc

at of peers
1 after the clasg
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‘r_‘r’hi{ h of the following hinders the participation ol students with visual impairment in
classroom 7

(1) tactile models of graphic materials

(2} electronically formatted lecture transcriplions

(3)  printed textbooks and notes

() raisad-line drawings and maps
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(1) Witk AT & orviEm ais :;

(2)— s w9 | yref = qﬁ"@f{ﬁ

(1 iz g i e
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Which of the following question promotes analytical thinking ?
(1) What are the various causes of increase of population in Tndia ?

(2) [ The capital city of India is .~
(3)¢ How many States are there in India ?

(4)  What is the total population of [ndia ?
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iual IMPairmeny in 16.  Assertion [A): Teachers should respect the individual ditferences amonyg learmess ane fa

thetr teaching to cater Lo needs of all studants,

. T
N \! 1 ' - - T = Jents sluenid be avoinded
Reason (R} : Collaburations, proup works and interachions amotpg students shoul
while teaching a class of diverse learmers

Choose the correct option

(17 Buoth {A) and {R) «re lalse.

(2] Both (A) and (R} are true ankd (R] is the correct explanation of (A}

(3] Both (A) and (R} are trug BubiR) is nut the correct explanation of (A).
(1) {A) is tue DUt (R) is lalse.
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17. Aceording to Jean Piaget hosw are children different fromm a'-‘““.'h' | [bs 1%, Wl
(1) Childnns thinking is L;-_m|'.til-'1“"'-'[f" different from that of adult: |
(2} Children are oo pendent on adults while adulis are independent. i
03] Adults are much more koowledgeable than children. 1
HE o Chaldren's thinkiny, is L]l'l:li]"'a'.[’i\'-i'[\_n' different from that aof adults. I
ST [ & ST g e fen T fue € n
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18, Assertion (A) : Schools should function within frameworks which assess the finished product . :
anid learming outcomes, 20,
Reason (R) : Learming, is tightly sequential and hierarchical.
Choose the correct option.
(1) Both (A) and (R) arv false,
12} Both {A) and (R) are true and (R) is the correct explanation of (A).
(31 Borh (A) and (R) are true bt (R) 15 not the correct explanation of (A), 1.

{4} (A) is true but (R) 15 false.
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8 Wil of B bt
1 the following statement is correct abuut * Autism' ?
(1) AubisTy o
(1) ST can be (yred and improves with Age.
(2)  All autiste

People have at least one exceplional skill
{3} 'y 3 B
(3) Autism is 4 neuro-dey vlopmental disorder.
Autism is cagee

ST 1% Causeid solely by enviranmental factors

FeiafEn 4 A w-m aem e  we HAE
(1) =EEm #1 w= feremt e wepn &, 7m0 & 1w =8 B B B
(2) A @ A i E = 9oay T I e S ¥
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20, Constructivist teaching leads to _learning by students.
(1)  receptive (2) /diseovery (3)  meaningless (4) rote
T faem faenidEl =5 AR F 4 A A
(1)  TEoeie (2) FAErE-Fe (3 R (4) T
R

21.  Jean Piaget's theory of cognitive development implicates that
(1) Focus of teaching should be the cutcome of the achvity instead of the process of thinking,
doud ‘ (21 Behaviour should be conditionad nsing rewards and punishments
(3) Concepts should be taught in a sequence of complex to simple
(4) Curriculum should be designed keeping children's age-group and stage it mind
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24,

apressive pducation children are Ptl‘rL't‘l"v‘Ed as .
Vulnerable and in need of protlection
Innocent and dependent

v : o |2 4 S o
1-H) : l!ll‘.l'.'lh.lnl andd L"]iﬁah]t! of Lr[ﬂ_\r' consutmning knowle dbf'
(4) Fnowledgeable and meaning-makers
N fovan o =i ot fam w0 B 2
(1) T A e 5% e o

(2)  =/gs sir iy
SR i e 9 1 I e | wam
W) ArEYE sl w31 e e

Rama is a teacher who is implementing Vygotsky's theory in her classroom and ﬁ}?:. ;1lssfxlglls ]r?]
students to wark in Broups to complete a challenging task. Du‘:mg the tasl.-: u'm stuc -:tn ; Tl“‘t,tglrl:t
o understand a key concept, What would be the most effective way for Rama to help this
student 7
(11 Work through the problem with the student and providing guidance and feedback as needed
. while involving ather group members,
': r_’fl"“ ide the student with the answer to the problem so the group can move on.
(3} Encourage the student to try 1o solve the problem on her own.
(3 Assign a different task to the student that is better suited to her abilities. _ _
T WA ® S Apiieen ¥ fagin ) st e s em a8 # ol T o Eeaicueackah uk el
% T 2193 =7l =1 et § wm w0 % for g et &1 @i 3 S, oo BT U e S 5
WA F o wA w81 fe 39 4 9 e %1 T HAY YA TOHT A ?
(1) El?%‘ﬁﬂwxmmqﬁaﬁzwﬁmmﬂﬁﬂﬁamﬂmmﬂaﬁ?
wieqite g2m &t
(2) a;|:4#amm.amm#mwmﬁwnﬁn
- (3) ﬁm-efrmmsaﬁmgﬁwﬁmmm#mmdﬁt
(4) maﬁwzm—wﬁﬁﬁﬁr?ﬂaﬁ?maﬁﬁiwﬁi
Which learning strategy involves children teaching others what they have learned ?
(1)  Reciprocal teaching {2) Conditioned learning
(%) Role learning (1) Expository teaching

ferd =3t 1 IO & mreil g el 7 faen e & o 27 v &
My T faam (2)  HEya Ay
(3) O TEEL HET ) e foam

Which of the following correctly describes “culturally res ponsive teaching” to cater to diverse groups

of students 7
(1) Intentional (i) Adaptive { i) DifferentHated (iv) Standardized
(1) (i), (i), (i), (iv) (20 (i), (iv) (3) (i), (i) @) (i) (i), (i)

ol F fafay wyE = r.[nm'ﬁﬁmfﬁwaaﬁﬁm'nfgﬁmm & T faem 9wt
ExGIN

(i) FERE (i) sFfem (ili) fafem (iv) T

L et e () (i), (i) Gy (), (i), (i)
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26. In ordert e - i
er o develop critical thinking amang students a eacher should
= 5 Cher shwou s

hich need mference and analysis

(2)  ask only those questions which carry sin e

(3)  discourage the students from as.:::' d‘:l:it :::lw:::r.ﬁnm

(4) _ glw questions that involve inferences and t"?tplﬂ]':lﬁl“‘ll':i- |
el & o foam =) fasfm F0 % Torm, o T =

(1) 8w & o e ford firdrerm sf faver @ s A E
(2) A9 UF 6w qea e foe v A I

(1) aveid Jqueshons w

Sl i (3)  Torenfefi ) e we @i v god ¥ fom vAmE T e

=t struggles (4) % e &9 =fan for 3 ¥ wrfim &

gt o ; . 1 ot freed 3in sareand e 3 ¥

:k as nee{h;‘fl 2? You are a tL’ilChPr who wants to ]'I.Pl'p your students I.'lE'I-’UIl.’E'-‘ ||_1et‘1|_'|_1w1iﬁ‘.fE skills. Which of the

following strategies is most likely to foster this type of thinking ?
(1) Assigning homework that requires memorization and recall.

(2) Giving students marks instead of qualitative feedback on their performange.

4 9 g0 =y (3)  Encouraging students ta reflect on their own learning and thinking processes.
1 e (4)  Providing students with summarised notes for assignments.

3 T e § S A ST ) T v s w0 e we = § et 3
nrfest afr F 1 Torifs vo v & fe ) a1 ) A A HeE § 2

(1) T i f T, A TE S A4S s g ¥

@ o = < e T e A i A

(3wl e T 5 i e =) o e 3 e
b Foertfiidt ) T R fern AR AT w1 e

| @ Feedback to the students in a classroom is most effective when :
(1) It centres around tests and exams at the end of the year
(2y It assigns comparative ranks to the students.
(3) It occurs during as well as after the learning activily.
It focuses on what the child cannot do rather than what they can do.

#
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29, Assertion (A) ¢ Teashere ihpiild eicousags debates, discussions and ¢ 1 1005 amg,,.
students apgapement m proup acy;
Reasan (R) : T — tion is an inackve procéss and engagem K P activig,,
hinders meaningful l=arming.
Choose the commect option,
(1) Both (A} and (R} are false
(2] Both (A) and (R) are true and (R) is the correct explanation of (A).
(3} Both (A) and (R) are true but {R) is not the corredt pxplanation of (A).
4} (A) is true but (R) s false
AIEDT (A): ot 7 e S5 e e, <] st A Sewfed 1 R
T (R ; T 2 T el i & S A nfsfafat | derad Adgol st 1§ o
EAGIR-S
LiREETS ]
1) (A) #(R) = 7em £
g
(2)  (A) =7 (R) FF1 a8 # 3R (A) 3 (R) 51 =arEm le%
(3)  {A) 57 (R) =1 wét ¥ w5 (A) 2 (R) W = 6w &
(407 (A) 981 & FFA (R) Tom 7 _ﬂ
| _"\
30.

Sunita, @ 12 year old garl, shows exceptional musi ili

. i 5 usical ability, Both parents \ i
singers, and they send her for classes for voice training after school I!.I.:: : ;‘E e 3':“”“5‘]1?]‘“"1
to be'the result of an interaction between : : TN e oY

(1) gender identity and genctic make-up (2) growth and maturatio
aturation

(3) nutrition and discipline 4) h :
e J eredity and enyj
Ironment

e, U 12 7A@, fade St e v f) g
1 S A= F ﬂhmmﬁf‘vmw&mm#ﬂﬁﬁi f
FF ¥ s fwa w1 vt &2

(1) @R 9=/ 317 SEiE Sree 2)
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Candidates have to do questions 31 to 90 EITHL R fre

IMPORTANT |

part - 111 (Social Studies / Social Seience),

gitenfefar &1 gy 31 90 ar & wmr - ;1 R :
W}#Em}g, ( & fyr ) ar W - 111 ( wrEfaE 3neEaT ) A

i Part - I1 (Mathematics and Scieice) OR from

PART - 111 / ¥~ 111

SOCIAL STUDIES / SOCIAL SCIENCE - {16 J1ead | ATifors s

Direction : Answer the ﬁ’”‘"i‘i?fg questions by selecting the correct/most appropriate options.

et : FrfofEn Wt & 3w 39 % forg wlt et Suge fiee 90 -

31. Match the following columns and choose the appropriate option :

Sphere of the Earth Feature
(a) Lithosphere (i) ~Plant and Animai-Kingdom
{b) Hydrosphere (i) Made up of rocks and minerals
(¢) Atmosphere (iti) Various sources of water
(d) Biosphere (iv) Thin layer of Air .
M) (@-Gv). ()G (- @)
(2) ()G, (o)), (G, (d)-5v) 4
@ (a)), (o)), (), (-40) X
@) (@)-(iii), (b)-(iv), (-6), (d)-(i) e
freaferfiam @ W il e FA

gt & WEe fagramr
(a) TwEHET R e sty
(b) TS i i) weer| U8 WS 8 g
() =gEEa () @ F i @“t"":
(@ daza i) @ W TEEl
@ (@), B)-0), @ @-E -
@  @-6). b)), (- (@) S

(3 Ta)i), (b)), (©)-iv), (-0

(4)

(a)-(i), (b)-(iv), (). (d)-(ii)
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33.

(

Mite

a)

Which of the tollowing statements is/
B (4] s ?
SOnstruction from the twelfth century

hnological developmeny ,
L

about tec I

fare true

;hikhara.
a5 carried by the shikhar

(@} The woight of the w}wn‘"m.{un- w \dby used in construction.
(k) Simdstone mived with stone chips was increasing’

Choose the correct npiiu]l 2
e : . 2
Lt Both {a) and () are incorrect (2)

(3)

T2

L’lnl_-,' (b} is correct

Fifeatia % 4 an m wus aned wdt 91 die Fion 3 ST

Only (a) 18 correct
, (b) are correct

(4) Both (@) and : A ;
foreq faqA aeHi® & f&"?fm'vt-.m:ﬁ

(a)  STme 1 v ol v e fom o il E
(0 F5fm & Ao o e 5 e gard] o o 6 4t 8 A A T

T faeg a1 a9 553
(1) (a) 31 (o) 2 58t 7 &
(3) FFa )@

Column - |
Concepts

(b)  Ineguality
(€)  Stereotype
(d) I rejudice

(L)
(2)
3)
(4)

(d)

(2)
(3)

() (@-(iv), (b)), (o)-(i), (d)-(ii)

JEAYRT ¢

: (iv
¥ (@i, (b)), (0)-(1v), ()i

Discrimination

(8)-(1i). (b)-(i), {c)-(iv), (d)-(ii)
(@)-(ii), (b)-(i), (c)-(ii), (d)-(iv)
(-(1v), (b)-(i), (c)-{i), (cl)~(ii)
(@), (0)-(ii), (i), (d)-(i)

)

2) iﬁ'ﬁ[a]w%

h the following concepts in Column = I with their examples in Column - II and chogge thy
ilr‘prupriate ::Flﬁnn : !

Column - I =
Examples o
(i) Differential pay-for same work
(i} Villagers are wrstiﬁous

(ifi) Woman not ailqg\v.ad to be hired since she is starting a family
(iv)  Girls are good.at cooking | |

wmwﬂﬁﬁﬁmﬁwg

(@)-Gi).. (b)), ()i, (t)(iv)
(@), (B1(i), ()i, ()i

P-11 (I
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34.

36.

Which one ol
(1) Hedid
(2) Usually
(3) He had
(4)  The kir
frefcfen %

(1) ==

(2) HAFELT
(3) TR S
(4) TEw

The Mugha
called :

(1) Igta
T[T A

(1)

The categor
(1)  tonor
(2) atthe
(3)  betwe

(4) in the

” | T:F—’r r,_ﬁ T
{2} a0
(3} 19474

(4) 19567

P-IT A



P-11

which one of the following is
“ni - = " .

| . ' B carrect for grama-bhojaka ?
(1) He id not function as g Judge and pol
C F R 1T,

71 Usually, men fro :
(<] ) en from the same lamily held the position for generations.
(%) He had slaves and hired workers o cultivate the land
i 3 2 Lancl.

(4) The king often used him to colleet laxes from the village
FrefarEd 5 9 F:1 H TH- v F ey wd &7
(1) A =i sy om0

@) ST B S s i 7 5w ] 2

() TR A W T SR S e FM F A

(4) e H AT T EH A S T 6 A 2 g

The Mughal revenue systemn with its_ own schedule of revenue rates for individual crop was

called : P
(1) Iqta (2) Jagir ,,..‘.ﬁ (3) Zabt (4) Zat

et T S a1 ¥ e dvora =2 =1 syer el w39 A €

(1) & () Wik h. @\ (4) T

k|

o
!
-

The category ‘erstwhile princely statde’ ivas applicable :
(1) tonone as no such category existed in Ingia.

(2) atthe me of Independence around 1947-48 only.
(3) /| between ] 947-48 and 1956 when they were recognised as administrative units
(4) in the pk'mt-lﬂi%ﬁ when they ware no longer retained as administrative units,
gy framea A < T

peeit ot A AT 9 A e L URE LU

— &

3 |
(1

(2) AN F T Fae 194748 F HE THI
() 104748 s 1956 &4 9@ 3 gt TEEdl & Y H A e

(4) 1956 % @ T4 < gyt e & ' o FarR el @ 4l

37

(TR N




70T  years rais :
37, T‘J“.._- Indian Natianal Congress in the early years K G g 40
!.\.!llwi’]. Choose the carrect Upﬁq_!n. had Jed 10 puvcrll\’ and famines
'-'- e ¢ ongress declared that the British ruh‘_ ilitary L.xpt-ndilun‘.,
(It demanded reduction of revenue and .ﬂlt I’“ :
) Conpress domanded more funds for irrgabion.
f."v': It rsed the vojce agrainst ;=n1'.|;-r!aii‘-m‘\nt, = ) and (ii) are correct
(1) Only (i), (i) and (iv) are correct (2) {hl:}' :l) kﬁi:l and (ii1) are correct
(3 Oniyv (1) and (i) are cormect- (4) Onl y 1)\ 5
e ) are oege aR A TX ) T T
TR =0l & vty gt it Seie & faems 98 e PR
2 - & Lt 5 e Eio ©
(i) w0 w1 e o1 o S 1 Faf 9 Ao A @ T 3
: o & P - - 3 i I
() 55 i 7, s o o et e e @ 1 @ w1
i) 399 i % fau s srqgm.a win i
(V) 597 TR a7 ¥ faene srars 329
() 98 (i), (iis) 7 (i) = ¥ (2)/ FeE (i) o (i) W B
(3) - ¥ (i) 7o (i) e ¥ (4)  EE ), (i) O (i) TE E
38.  Who coined the phrase, "Unity in Diversity” ? 41.

39,

P-II

eCONOMIC issues

od a number of Aaing

(I} Sardar Vallabh Bhai Patel __ {2) Pt Jawaharlal Nehru
|-j'! Mohandas Karamchand Gandhi {(4) Subhash Chandra Bose
Tafaya & v’ g faad o 2

(1) =@ Ty v 3 Y (2) dfes v TvE T
(3) TR s iy O (4) vz @

hY

Which of the following 15 true a% Ashoka's dlhamnia ?

(a) It did not involve worshipofa god.

(b) It did not involve performance of a sacrifice.

(€}« The ideas of diwmma were inspired by the teachings of Buddha
(d)  Ashoka appointed Buddhist monks to teach peaple about dhnm-ma
Choose the correct option : '
(1) Only (a), (b) and (g) (2)- All (@), (b), (c) and (d)

(3) Only (a) and (b) () Only (b) and (¢)
frefafas & 4 29 o1 g9 v % 7 % famg ¥ w2 )

(a) snﬁf#m’ammwﬁmmaﬁm

(b) s T weft FiiE s T 0
(c) &% TR 9% & T 4 3y &
(d) SR e e 3 % o i ¥

d Wﬁf&jﬂ?m‘lﬁﬂﬁaﬁi

-'HE'T fﬁm FT I FL |
(1) %= (a), (b) 79T (c) P i .
(3) Fa (a) A9 (b) > @ <) A (d) edy

(b) 77 ()

LT %

Below a

(A) H
(B) H
Choose
(1 (4
(3) B
Bk i
(A) &
(B8) =
)
(3
Match
option,
(a) E
(by &
(c) ¢
(d)y ¢
M (
2
@) (
4 (
HAE T
(a)
(b) ¢
e
(d) °?

(
2
(
(

L P-IT |NEIN
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40.

41.

Below are bwo statements (A) and (B} in th
& contex
(A) He advocated equality of :

(B) He inspired all of them,

of Shri Narayan Guru.
all within a single sect or caste.

10 have faith in a1 furus
Choose the correct option -

(1) (A)1s false but (B) is trye (2)  Both (A) and{B) are true
(3)  Both {A) and (B) are false (4} (A) is true bul {B) is fakse

AT (A) A (B) A A 7 g

(A) T SRR W o 1w gy

(B) T RN R R v vt 3 e e P
@ e W A w1 '
(1) (A) 7o & S (B) =9 3
(3)  (A) 2 (B) T TTem #

@) (A) o (B) 3w E
(4)  (A) T8t AfFA (B) T R

Match the following in the context of people and objects in ancient times and choose the appropriate
option. 1)

A B !

(a) Barygaza (i) Stamped red-glazed poﬁﬁﬂ'

(b) Shrenis {iiy Bharuch :

{c) Arreline ware (i) Independent farmers f;
(d) Grihapatis (iv) Associations of cralts persons and merchants

et |

(1) @), -G, (&0v). (i) 3

@) (@-Gi), (B)-(iv). ()-G). (d)-(5)
(3) (i), (B)-(iv). (c)-{u (d)-)
(#)  (a)(iv) (b)-(ii) ()=, (A=)

()
)
(©)
) (@), ), (-, (-G T
@ (@), b, ©-0) (@) 5

@)  (a)-(ii), (b)-(iv). (c)-(Ei) (d‘,l-?)
(@) (@)-(iv). (b)-(iE). (c)-(i) (@)
39
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) - f choose the on which ol
A2 Caheiis N ions of the Earth and Ol 44
"F‘T[!;!‘Jl:l.l T the following sontences (A) and (B) about motons of @ Th
/ . b)  Pe
(A) Rotation, 4 the Movement of the earth on 1S axis. : \ I
r 931°% : (<) P
T : .es an angle of 333 with ity Orbigy|
(B)  The axis of the Earth which is an imaginary line, makes an & ' (d) An
plana \
) o Choose |
Choose the Correcy option ; (1) ©Or
(1) Both (A) andg (B) are incorrect 2) L—.lnl_\" (A) is ocorrect (3] Or
(3) Only (B) is COTTecH (@) Bath (A) and {B] are correct Sty
T Tt % oy A fam my, ferfafim w0 (A) 79 (B) T Faraw HE a9 WE fAwe 1 m w5 @ ®
W) TE F 9 18 g iy g ®
B9 1 <10 vk et v 4, < ol s e 4 331°, % < A (© @
T ey 31 o 54 @ 3f
(1) =R (A) Tur (B) 7o # (2) a1 (A) TEE pe
(3) %9 (B) 7d # (4 =l (A) 7 (B) wE )
@B ®
43. Consider the statements (A) and (B) about Paramountey and choose the correct answer :
45. Choose
(A)  The Company claimed that its authority was not supreme. (& M
a Ly
{B) In order to protect Company interests it was justified in annexing or threatening to annexe
any Indian Kingdom. (c) Te
(1) (A) is falsc but (B) is trué (2) Both (A) and (B) are true 2
) - 1 b
(3)  Both (A) and (B) are false (3)  (A)is true but (B) is false / o
: A W ; ® @
(A) 377 (B) Forl T wateaa & wenl H T i i o
) a7 Fifsw, ——y
(A) #9037 e 6 3w sfirsm waten = o -
a d
(B) Wﬁﬁ?ﬁx&rﬁﬁﬁﬁ@ﬁtﬁﬂ%ﬁ&ﬁmmmmmﬁ = 3w ©
AfRR F AT WH A ot
AW (A) Tem  AfEE (B) wE B (2) m)sﬂ:(n}iﬁiwm M
(3) (A) 3 (B) 3 T (4) {A}‘ﬂﬂi‘ﬁﬁﬁ(n)m%l B W

P11 I 0 L P-IT Wi




v

5 Which of the following stalements 4y
curtect about Amazon basin ?

hoose the COFrecy

* with its orbijtgy)

| 1 A |

nNswer :©

ming o annexe

2 F

L

—_— -

(a) This region is characterizeq by hot and
wet

People practi
®) : clice "slash and by Eogmult‘ure
© People mainly grow paddy,

climate throughout the vear.

(d) Aircrafts and helicopters are also L
“"‘-‘d fur react
Choose the correct option ‘ ing various places in the basin.

i} e (2) ¢ ©nly (a), (b) and ()

(3 Only (b), () and (d) () m}r (@, (€) and (@)

st A 5 R A Frcifofm @ o et 2 82 |

(a) G 7el e sf T e e ¥

() T EF 9 T T

(¢ T S W T

(@) e i e g S e g e e o e e e

ot e & = L_g
(1) % (a), (b) 70 (d) (A (o), (b) 7 (0
(3) % (b), () 70 (d) {4) :ém (@), () 741 (d)
 Choose the measures to control soil erosionand depletion from the following.
(a) Mulching {b) Over grazing
(c) Terrace farming (d) Inter cropping
Choose the correct option :

{2) (@ ®), (o) only
(4) ¢ .fa) (b}, (d) only
sforaT & ﬁdﬁﬁiﬁaﬁ F urgl %1 =T FAL |

1) () () (d)only
(3) (@) (). (@) only

Frefafiga o | & ATEA i
(a) T FAA (b) ‘ﬁﬁ et
() Hfem (d) -\—ga %1 wFa T
(
wit foe 1 A F e
(1) ¥ (b)) @ @ CFFa (@) () ©
@y ¥ (a), (o) () @ ¥ (@), (0) @
1
P




45' E

(19 i i

"‘I U341 am. and 08:50 a.m. nespectively
(2 115, g :

| U910 am. and 08:19 am. respectively

If.”-‘ U819 a.m. and 09:10 a.m, respectively
+ U850 am. and (9:471 a.m, 1._1_»,"_\;1'11\-:-]J'

AT WAy Fo. &1 g 2

48, Consider the two
{A) : Those places
{R]  The Farth rotates from o
(1) / Both (A) and (R} are false

(4 (A)istrue and (R) s false

(1) =Fi (A) 791 (R) 7o #

(3 FH (A) Fam (R) = # fareg (),
() (A) & & a1 (R) Torm 3

P-TT N mnn g 42

o warld

w0 TS T p -l

: Tlru_ The sicpe that were formed W00 oullion years a
—‘.I ated dn the Himalavan regicn
I considered oungrest rocks in th
? ,‘I bcatig in § torn Australia
' l In Eastern Europe
WA A N get F Frm

) Temer s & fram ¢

(2 fovm 5t THITAY Fe Wi Al E

U1 T et ¥ fea 4

(43 -j'_-l:l' T-H i frorg £

47,

- PPening fime of Central Government Office
Ypening of the Central Government Offices locate
tast Longitude near Itanagar, r:'ri}'lE’t't""r-'lf" '-

() %79 q9e % go.qy 7@t T G 0850 T
(3] #m. # 09  ren e & 3 OO
(2 "W E 0910 T 791 gHE FOR19 TH
(3) w99 5= ¥ 8.0 T T4 T 09:00 wR 'b
(N #59: qaw % 08:50 73 7y H{a® F 09:41 70

EIVen statements (A) and (R) and choose
West of Greenwich will be behind of Gr
ast o west and sun rises

ffl Both (A) and {R) are true ang (R) is the correc
() Both (A) and (R) are true but {R) is not the

ﬁq*rqamﬂr‘fm}mmaurﬁwﬁr' f

(R) 7 F=TE ifory 34 vt e for

w;sﬁwﬁ-mﬁamﬁmﬁ_mmmﬁamﬁT

[H;,.gargﬁﬁnfma‘rﬁnWﬂarﬁi%ﬁmﬁﬂ@ﬁ:ﬁﬁmw‘
; AR G e o

A2 ZH (A) Aur (R) 5E & 7o ), (A) F1 78 Tt 8
(A) %1 1 Tt 2

yas farmed, 15 !

e AP, 0 ST, what w
o b4 i is 9:00 am. IST, _
i d at 80¢F East Longitude

T it ey FAEE % T w1 we wtﬁﬁﬁ IST ( Meli™ T 99 ) 2, 4

F 80° Yo & 7 wern 3w ol = b o fem $2M wEE e
Y

the appropriate aption
cenwich time.
early in eastern side;

t explanation of (A)
correct explanat
o) p on of (A)

! Fifor |

Who among the fol.
the British rule 7

(1) Lala Lajpat g
(3) Balganpadhar 7
fq:-ﬂF"TT‘TH i ?-1 Eor] o
(1) I G
5} T e

JIn a physical map of
“ colour :
(1) yellow
(1)

Match the followin
Rocks
(a) Igneous Rock
(b) Sedimentary
{c)  Metamorphy
Choose the correcl
(1) (@)-(), (b)-fi
(2)  (apHi). (b)-(i
(3)  {a)-ii). B
(4)  (a)-(ix), {b)-l
WA
(a) ZdE
(b) s i
(c) wFAE W

wit ooy 71

(1) (a)(i) (b
(2)  (a)-), (h)-
By (a)-(ii), (b)
(4)  (a)-(ii), (b

P-XT b




v

ped, is ¢

iT, what will be e
Longitude near Chﬂ:umlzjl

FER) B, A

toption :

59 who among the :I'ul]uwmg

50.

51.

ey

the British rule ? edited nuv "
Paper Kesnr whic g2 .
() Lala Lajpat Rat vhich became one of the strongest critics of

(3 Bnlgangacﬂmr Tilak 2} Jyotitao Phule
freateifEd o | =i WWT R 1) Mahauma Gandhi
(1) T A 1| mzﬂﬁ“mm'ﬂﬂmaﬁﬁﬁmumwarwemﬂn
ey A o (2)  fron w=
(4) ygre vt
“jin a physical map of India if + .

colour : 121t you have to IC‘CQ*'IL: the Decean Plateauw, it will be represented by the
(1} yellow (2) ora .

3 nge (3}  brown 1 sen
v F e wmtas 4 aft w2 : W

o i S R ;e § ), 7 e R i T A

) (2) 3 o )
Match the fl.‘lul_‘l\\fing pairs and choose the appropriate ophion :

Rocks Origin/formation
() Igneous Rocks (i) Change under great heat and pressure

(b) Sedimentary Racks (i) Molten Magiia
(c) Metamorphic Rocks (iii) Depesition by wind and water
Choose the correct option

(1) (a6, (o), G -
@ (@), (B e «
@) (@)ii), ()-Gi), (©)-0) M~
(@) (@)efii), (b)-(0). E€-i) ®E
ﬁﬁﬁﬁﬁqﬂ#ﬂﬁwﬁmmmﬁmmwm:
vist Fafy o
(a) s W § ~1 71 U 1A 3 R it 6w
(b) a9 (i) e
(© Wﬂﬂﬂ (i) ﬁmmaﬁmmﬁmﬁﬂ{lﬂmm@m,mwm
w0
At forpe 1 W L N
(1) (@)-G) . )
@  (a)-G), ()G (c)-{iid) )
@y (@), b)), € il
@) (a)-) o) (- o
43

P-Ir (AR
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52,

53.

T e I F

C . rect ophon.
Osider the follaw; ing statements about Ladakh and cf aisitni !

(a
) Severa] Tivers flow through Ladak

{b
} Due to hlgh altitude, the climate is extremely cold.
({-] ]JE'ipth hLlTlg i the rain i-hudgllh' ﬂF Hm'lﬂh}af’ there is h-igh ramfal]

@ Ths area experiences freezing mnttﬁ and burning hot sunlight.

() Only (a), by ang (d) are correct_(2) Only (a) and (b) are correct
) Only (a), () and (c) are correct fd) Only (b), (¢) and (d) are correct
mhﬁﬁﬁwﬁmvﬁuﬁwﬁmwﬁﬁﬁmwm’
@) %1 2t g o ot £

(b) “ﬁmﬁiﬁmﬁﬁ#‘ﬂmﬂﬁﬁmmﬁméﬁ%l

() T % 3f 1o don #4951

(d) W@ﬂﬂqﬂ?ﬁmﬁ‘mﬁwaﬁﬁmmmmﬁmtl

)+ ). (b) 7 () 7 ¥ N2 () v )

L F@ o e w@ ) w), @ @

p—"

Women were taught at home in mnﬂ%h century colonial India because :

(a) they could study as well as do c[l‘.'m‘bp:.hc duties.

(b)  people believed that going aut mpltbhc places would corrupt them,

(<) people wanted to hide the fact of their education from relatives and friends,

Choose the correct option :
(1) fa). ) and () (2) (a) and (b) {3) " (a) and (q) (4)....(b).and (c)

ﬁﬂwtmﬁmmﬁmﬂ@mﬂﬂwmmﬁﬁn

(o) 3 T & T g o

(b) i & o e T 2 farg s

© mmmﬁqﬁﬁﬁfﬁm@&ammmm

i fwen 1 w9 = i,“:,

(1) (@@).®m3E) (2 {a}a’ﬂ?ﬂﬁj} JA (@) #r (o) @ (b) s

P-I (RO ‘“
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——y L

gelow are twWo statementg (4)
and

ion.
ing : (B) in ghe
(A) During the First World e ther:l the conpuyg of leather workers in 19 century.
e s !
) TS e ot gy oy o o e
Choose the correct ﬁpt'; this & an opportunity and were ready t supply
on i |
() (A) is false but (B) i5 i _
@ Both (A) and (B) are fulse %) Both (A and (B) are true
#ra 2 F (A) S (B) 19 5 ey 3 W (A is e but B) is false
T w A e A
(A) T T T A e g v
TS v i e o
! (B) T SR 5 it it g -
R SR Fa sl i 2 o) g ¥ T dm @
ot fasea 1 57 %1 .. i ¥
| 1) (A) e § A (B) w4
|8 ¢ P AL (2 (A) s () 2wt &
3 A B =
B WemEpm (), () ¥ & % (m) e &
5 A pnpu.latiun pyramid with big base and skinny top sbmms :
. (a) High birth rates ' )
' (b) High death rates in higher age group e
| (¢) Relatively large number of young population :Z"
(d) Large number of deaths of infants C-;
Choose the correct option
= (1) Only (a) ) and (d) (2} Only (a) and (b)
(3) Only (@), (b} and (<) (4) Only (b). (c) and (d)
di ] m@mmmqﬁzﬂﬂmmmﬁsm&
@ FTATHAE w
b FEegaA dIHATIH posi-i
‘ (© gorEs w9 @ A I AgE 0
(@) fegit f e 0 o T E O
it e 1 7 H ol
wad
(1) e (o), (7 (@ @ ¥
, (c) @9 (d
te) @) 3 (@), (b) 7 (9 @) ¥R, QT
L | 3 45 L
- I e

22



56,

57.

58.

T — h 4

which one of the followin, dx"h
t

Anhﬂﬁﬂupmtg p‘lﬂ'r an !mpnrt-lﬂt m[g m dehEﬂn[: I“‘; UI'}

o ’I““m‘ﬂ aboul their nature of work ?

[11 l‘.‘..\,mu“E T—h . o
z vowritten records Ll
3 ; sculpture
(2) Study the Temains of buildings, pﬂinmlﬂ’i and i
) Explore ang excavale tools, weapohs pots, pan et
g Look for bones of animals, birds and fish

mﬁmmﬂwﬁmw@wmmm Fefeafien 3 4 5
mﬂ%%#wwﬁqmﬂﬂ?ﬁ%? ‘1

) Tofas it o3ty =1 i :""aa

(2) Wfﬁmcm)@qﬁm%mﬁﬂm

©) S, efeeri, a4, st e fog o-af o g

() S, wfige, wofert =1 st dn

Which of the follow; 'ing is/are correctly fditched ?

Crop Required Climatie*Gondition
(a) Coffee - Cool and dry r:lmm

(b) Tea - Warm climate and Righ rainfall
Choose the correct option :

(I)  Neither (a) nor (b) @O’ﬂ}' (2]
() Only (b) ()" Both (a) and (b)
ﬁnﬁ%ﬁ?mfﬁ?—ﬁwﬂﬂﬂﬁﬁmﬁji?
EA ATV werETatay Ten
(@) R o 3 s g ey
(b) =™ - T S S e ae
T a5 ®1 = wifen | CQ
1) AW (@) A # () fg}}ljﬂma{a)
(3) %= (b) B (a) A9 (b) Zi
Q0

Which Layer of the atmosphere has very tﬁﬁ\ layer of ajr ?
(1) Mesosphere (2)  Thermosph . (3} Exosphere
AHER F 0 T a9 aga voeh w an 27

(1) waTEa @ TWATE  (3) wfedeg

(4) Stratosphere

4) wwam HEm

P-I1 WU 46 L
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' N

the lﬂ"lﬁ)\\']‘ng che; wata_ﬂ ]agu's welre given bﬂ',‘
v A
o 3 q)  Indian Muslims kbar to whicy, of the following, chicfs ?
3 Marathas ':i) qfkhs ’
T L8 7 freferftas o 3 foR HTEH! _T EGE ;Tﬁgl?‘mY:i Rajputs
SR EEHET] LT oy 2
:11 i O (2)  Toi
i “ ) fawifem Ty
Freferiaa 4 5 e Ty

"aﬂ The Government has passeq Imﬂ that
V'J WOmen '-“'lpluj, i

it

ves 1o provide
1 30 @ 10- creche facilities.

g Consider the statements (A) and (B) and choose the correct option :

adjust to an increasingly

pendent world.

(1) (A) s false but (B} is trug— (2} Both (A) and (B) are true

(3) Both (A) and (B) are § . {(4)  (A) is true but (B) is false
F7 (A) ﬁﬂ[ﬂ;mfaar«:—uﬂﬁmaﬂmﬁfﬂmﬂgﬁ#

| (A) mmmﬁ@ﬂhtmwmwwﬁt-

=7 Tave H Wl 4o e B
W{A}W%ﬁﬁ[mm% (2)  (A) 3 (B) il & ¥
)] {A)aa‘lt(n}aﬁmt () (A) T ¥ e (B) o R

62 Which of the following technique

working in group task 7
Lol (b Multiple Choice Question

made it mandatory for organisations with more than

R R CE (R e BT E T U R — Gk @ 2 ‘
i HEAl _ L T] il 'm{'ﬂmnwﬁw%mﬁnﬁmﬂ-ﬁ
(1) 30 @ 10 () 15 W 25

The nat i i
(A) T: g lrlﬂl sciences are supernior to social sciences and are the domain of bright students.
(B) B el A ae "E:ﬂ 10 provide social, cultural and analytical skills required to

(B) mmmwmmmﬁmﬁ ¥ foru e & w0 A

is most effective 10 assess individual performance of a student

{a) Rubrics ) Port
(c)  Presentation L-E:H %) o
' ect opti ®)
Choose the correct option : {a‘j 4 () (3) (b)and {) (4) (c)and (d)

| ) @and(@ @
| %Lm(fzaﬁam-ﬁ@m 3 s ) I A 9

Biz-vi wEl 1 W W 8 A

?

, Dl 1 S-S A PR

i (a) wAfE (N (Z) ag&:wﬂq b ko

(o) il wEEAH oy 2 T
fawea =i
| g (@) ?r:lﬂ(:]m l{z} (a) 391 (b) @ ®IM0O) @) (o7 (d)
| 47 L
R
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in livelihood soyy,,.
6 h their main ree i,
R lacge tuber of People in rural India who are landless, alth

Ericulture oy, called 5 -

@ Marging| farmers (b) Migrant labourers
) Agricultural 1apogpers o (d) Small farmers
Choose the correct oplion : ..
() ™) (¢) ang (@) only (¢ {2} (a) and (b) only
) () ang (c) only - 4) (a), (b) and (c) only
() wivia farry o T I g a—
(€)  F vy (d). = fEwm
W ey eek -1

ANTHIR (), (c) ot (g (2) Faw (a) 3l b)
() Faw () st g (4)  Fa (a), (b) 3 ()

#

64. Involving teachers is cunsid@;;ed important in the development of social science assessment
framework to - .

ey
(a)  integrate fl:!ntempnmrf.:?ﬁ;l!nts and prevailing changes.
(b) make curriculum and @aﬁﬂn only subject-centered and to limit its scope.
(c)  save time, labor and mibney by using teachers only as a resource,
(d) make necessary changﬂ;:nrding to the level of teachers by using the experiences of teachers.
Choose the correct option :

(1) /{a) and (b) only (2) Only (a)

() () and (d) only (@) {a), (b) and (c) only
mm*mm%%ﬂﬁwiﬁmwmmt:

(@ mmﬁﬁnﬁi@wﬁaﬂﬁmm%Mq

(b) mmq@mﬁ_ﬁ?ﬁﬁw%&awqﬂwtwﬁmmtm
(c) mﬁmﬁaﬂﬁmﬁ;wﬁmmm,mmm;ﬁmmtmi
() mtm*@ﬁ?mmﬁ*m*mmnﬁmmtml

i foeq =1 =7 w7 M
(1) & (a) 3 (b) @) (2) %= (a)

@ ¥ (a) 3 (q) (4) = (), () ahe (g
| P11 AN - L
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ain livelihood SOUrce i

science assessment

ope,

rriences of teachers.

R ¥ o
% fogy
I & fomm )

U

* pssertion (A) T Studenyy shoulq

pead the Assertion (A) g Reasop ®)

Skt e
iy L Tt and chooge the
&

Reason (R) twin help the inl:m::rl-t“-:am\{l o ask questions i;: the classroom.,
() Both (A) and (R) are false, Studenig 1 open up,

2) Both {A) and (R) are true
o) Both (A) and (R) are i1y,
4) (A) is true but (R) ig false,
AT (A) AR T (R) 31 wn q n
gfwere (A) : Terenfeisi o T 3 oy
@ (R) : AT St fornfig
1 (A) 3R (R) =T o ¥
@-—14) 3 (R) =% 5 % 3t () %7 (i v ey 3,

() (A) S (R) T W F et () 20 (R) W s 7t e &
@) (A) FE & A (R) TEm #

correct ophon.

aNd(R) s 1,0 COtrect exgpl

but (1) ;
F{IR} 15 Not the corpact explanation of (A).

anation of {A)

B o e Hif
fake Ui CUf SE———
PG H v o

Which method would you use to collect information about the actual and correct status of
parthquake victims in your area ? L

(1) Problem-solving method =~ ™ '; (2) Inguiry method

(3) Survey method C ) (4) - Project method . G
9 3T &R F vy e safemal =i avafas @ w6 fefa & o 3 wed o F0 5 e

1 i w2 oo

(1) FwEm-TaE fafd ., (2) ‘?‘*‘W’W &
w’ s fafu I"."_'I._ (4) ufren fafl

j i 3 i involves
A W m'Et'l.ltjd 1 i & | (b) Discussion
é:; gxc;:iiilenl (d) Narration
Choose the correet option :
1) (c) and (d) only
(3) (a), (c) and (d)

Famat
A fagr 6 e 9Efd 1.;-:' b o

L (2 (a)(byandto)
( — 4 @ and (b) only

" o @ T

i, T N

Wl famey 1 99T HL) by o @0 a1 {c)

1) =& (o) 991 (d) @), @ ¥ ad (b)

.3)  (a), () 7 (d) L
49
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I ‘ 70. che cooks |

R) in rel
- : Rei-“-‘“{
L Onsiger the f,, and

" . warti A
lowing statements Assertion (A)

or tea sho
it - y istinct methods for d.g her
~CTCe and chonge the carrect option, Wil distinct m .lun-[:: Wil .
Assertion (A) : TT'I*- s |; :-.'jum'-::i have x‘l(‘\.'e]lq’_l‘efi Lijei: ‘ : (1) Paid
' fit e abiective and systematic way. 1 35 difficult to insulate the abge,, = | :
#Cls in an objective S ek 1 Gejence itis d Py &k, T HHE 5
Rellnon (R) . Unlike the natural sciences, in ',:-(‘I-J-‘ll ; e p“pu]ar sentiment. ’ : Y
and analvsis of facts from the P{r&-ﬂ ) %; L at
(1} Onpy (R) is troe e jon of (A) ‘ =R HA
- : -t explanatbion ¢
(21 Boy (A) and (R) are true and (R) is the ﬁﬂ?r_mt LTP lanation of (A) |
(3] Both (A} and (R) are true but (R) is not thi dorrect exp ! (1) Y
(4] [:"11.’1' {i’ 15 trye 5 fqﬁn - i
- ue ; s ad (R) W Fifam
ST 91 %1yl 3wy i frfefen 9 HWEE (A) ® 5 f
59 1 5 iy : ' Which of t
i it ) — = s 71.
i o : e )aﬁqﬁmdﬂﬁrm}qfqﬁr
HYFYUT (4) . W fams 5 quf 3 T UF wdeG = ( = (a) Wha
faferal famfia 7 ¥, o : |
. ; i AHTE T F 2am 1 ag How
T (R) : TENE T & firy ( srgm), avnfe fae o il i studi
HINFA U foveram w1 Gu S0 FiA T o
. "y | n
(1 *=er (R) =3 T o | (c) E
e 1 £ } are
(3 (&) ofit (R) 2l e e ), (0 50 0 v #) R
& e ~ 1
(37" (a) Wfrniam'umé‘mmn;,wﬁnﬁ%?lﬂﬁﬁl | (d)
() Fasd (A) w7 # — (¢) Wha
0™ Choose the
69, Which of the t(rflame are essential elements quair trial ?
(a)  The trial is held in an open court, _ (1) (©)a
(b} A copy of charge sheet and all other ew@v that the prosecution presents to the court gy, (3) () (
given to the accused, |
(€} The defence lawyer is not allowed to Cruss-examine the prosecution witnesses, TFr=fafam
(d) Jud ges decide the matter on the basis of the statements articulated by law}'crs‘
Chaose the correct ojtian - (@ =TS
(4 Only (b), (c) and (d) (2 All ), (b), () and (d) : ®?
(3) " Only (a), {b) and (¢ ()" Only (a), (b) ang (d) | =fren
ﬁqﬁﬁiﬁ-#ﬁmﬁwwé%qa\mﬂw ' &y
(3) qFH T F A et srarem & ey | (c) ‘fafa
7 mﬁqwﬂaﬂqﬂfﬂ#ﬁwwmﬁmﬁﬂ{m Wﬁwuﬁmﬁaw%n ) =
(©) mwaWmmﬁmwwaﬂﬁmmmmwﬁmmw%ﬁmm ¢
3 (€ sz
4.{, mﬁ?ﬁﬁﬁ:‘ﬁimﬁm‘"ﬁfﬁmmwmﬂ;.m}mwmmﬁj il frwe
Tl ey =1 w7 55 :
(1) "%a o (b), {c) Tm (d) (2) [:’ll:l, (b), (c) Fer (d) =it (1) )
(3) I (a), (b) 77 () MFaa (), (b) 741 (q) (3) Em
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1 the nature o ¢
Of € "
= T
ia)

»ds for de;
ad L3 ”L!I_}__: 1'-_-“_]_.

1late the obgep,. ..
‘c [ _R_,—qumn

|

TN Fiow e T
T W Fit fafire

[ Tam & g 5

s to the court are

Hes,
‘ers.

it
dre el faan =

Lot Sl.'”ﬁ |I.:'El al '_P'I_l.'{_'l am, She
e cooks food, washes gy,
i“,r tea Sh(‘[’. All this can

B5, cla: Waler from o ¢
cleang the 10115 Irom o far away well  After reachmg, home

b iF e i A Mg B
© Ieferreg ki as - SWeeps and then poes off to purchase tems for
i Paid work (2)  Cara o
2o ale ﬁ]\'ing [q.
. = o : &) l"“ulil-'- e i T e
o T 5 TN T AT B ) gy e burden (4)  Housework

R N B 0w & ,
§, F98 9T T, TR TOH w2 g i = ﬁn T 2 e udgd A ae = S
frz T AR &1 T W ] gy e, P | T TR A st am w oFA F e o
aie = E WH wEt e ST e & IH'T-! 9% S T w A & T

2 SRR A T 6 g 1) TEwH
lpdl ®iZ E] )

which of the following questions assecs 1. i

gq 5 assess the analytical aspect of the copnitive process 7
a)  What are nabonal curricul I i i . 1
(a) cular objectives which can be achieved through heritage projecis -
(b) How are

methods g 5 "
i ods of }ustur_', useful in the research of (a) science; (b) art and management
studies ? L0} :

rﬁ_\
_&'_l

() In how many regional langtalges and local dialects ‘VividhBharati' programmes
are broadcasted 7 o)

(d) Write a review on two h:l_bt(]l'll:,a:!'}'“end_[_v, you have watched.

() What are Bharuds ? In wllid'l_lwg'!}.un / State this is popular ?

Choose the correct option : N
1) (c)and (¢) only O (@), ). (¢) and () only
3) (b), (c), (d) and (e) only {4) (a), (b) and (d) only

ﬁﬁﬁfﬁﬂﬁﬁﬁ?—ﬂmﬁmﬂmﬁm%mﬁmmwﬁﬁﬁﬁ?
&mqmzmwﬁmﬁmﬁ#ﬁmﬁmﬁ#mwmmﬁmm.-_:nmm
LY <o woeliteom B 8
3 q: ﬂ[ﬂqﬁf‘iﬂmﬂmﬁﬂﬂ‘- H HEEE §
(b}"’sﬁru'mwﬁfafuﬂca]fﬂf (b M | o
'ﬁﬁwﬂ?ﬂ'mﬁfﬁmﬂ’rmwwwmﬂ
7 Ty fafa)

aiiferl 1 . T A
(c)
(d)y s g F@ o & A wETfE

() wEZFME? ﬁuaﬁwmﬁnﬁnﬁmee*

R famey &1 99 F1
(1) ¥ (c) I (e)
(3) Faa (b), (<), (d) A (e)

Fa= (a), (b), (<) I ()

{2)

5 (a), (b) ()
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: agg, Thest were then Wit
A - ir cliass. i - | i
A Docia) Nience teacha ked students to make rules iLIu' #h:;pg,'{* The chart paper wag asteg
: . Wi follow these. : ractiviby for s oo | .
Achart nana. A ir consent to foUC introductory activity for whicy ¥ | .
SHET Al the of " ave Ir COTSE 2 introc . ol X

class -1-.: ey ‘1] tln a.,l_u.lu nl;ttld u; F_l:u tents. This Fan be an {

e i Lan be roferp * the students, :

the 1"‘_\.'.‘.'.-, ne ton 1 o JemocCracy | o fe
o . x._[..u, topics | 3) “Marginalisation (4) !.‘ nj oCrac) o (c)
! Markeg (2) Diversity (3) ek - o 7, 3 3 fam T wr T
N f . e e w1 ®1 &l : A L d) a
rf: e Ferfsin asif =1 srrit e 3 for <ré w1 fot 1 0 8, e (
e o B 0t i 23 et T 1 qE Wq‘wrfaa 1 TG T WO fifafy 5o Choose
S & W vt gy o FEE | o afafafy 7 fre 0 @ A . ‘
e F A &0 i
= il g7 [ _ : (1) (a
. = ] e (4). WA .
(1) =i 2) fafawm (3) O | "
3

- : ) . t of plurality in socjg) Scieng,
73, Which one of the fallowing statements accurately reflects the concep F N |

Curriculuym 7 Choose the correct vption - i

(1) Use of complex language in social geienice curricular materials

(2) [-’“mmunru aof a single idealogy |

) Inclusion of multiple perspectives and diverse view points [

: )

{8} Exclusion of certam perspectives from sociaf‘-sd\unce : o

TR forsms e 4 srygey Fi muﬁﬁ!@ﬁmﬁﬂaﬁ?mmm | o &7 ng

foFeg 21 w7 =3, I c) W
- - -~ 4 L

(1) Wﬁﬁ'fammamm#wmwmwﬁn

(<) e e T (D

(3~ 37 vftiteziy sy fafsy T %1 oo g _ et o=

(@) =il o 2 o videdt = femr ) '

&

74, Which of the following should be considered as gender neutral atmosphere in a school 7 @) (b
(a) A group of girlsare making Rangoli
) A grou p of boys are volunteering in annual function,
(€) A group of girls are Préparing for dance competition,
(d) A group of boys are arranging n-!reshn'lenf.t{o’ guests, 76. The ide
Choose the correct option : u
(1) (b) and (d) (2) (a) and () (3) ~.€5,,'l and (c) @) (@) and (J M M
frafafas o 3 2 mmwmﬁ'm'mmmm%?
(a)  wTERal & w g g fiedt g s
Ab) m%wmmﬁmqnmm
fe) mﬁmarwmimﬂﬁmhmﬁhﬁm
() m%n@m-ma-ﬁ%mwﬁmm 1) #m

wE fasey @1 5w 53 e .
K OWG @ @y g MO W e |

P
P-IT (AN W 52 L W
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hatl T WANE perind of ime
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= g 1 9
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Fmfaw 37 4 v 5=t 792 4 o Pl g i |

(a) - S 7 e g ey

) ﬁmvﬁ%ﬁafﬁwﬁirfﬁﬁmﬁﬁmml

[dL_ﬁﬂvﬁﬁﬁwﬁmmﬁ%ﬁTaﬁql

W fawed & F9A =1 ._

(2} (a), (b) T (c)
{1 {a), (b) @41 (d) {2} (a) (b

(4}  (a), {c) A= (d)
3). (b), (c) =1 (d) |-4 (a)

- P .|'.
The ideas of Liberty, Equality and Fraterai
e idea: 3
" 21 American Revolution
arta |
u} Mdgna N ) 2yasian Revolution
|:4_| [Russia
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() Iras
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(1) Only {a}, (o), (d) and (e} (2)
31 @oly (b), (0, () and (o) 1}  Cnly (a), {b), {d) and (e)

:mr#ﬁaanq'mmﬁmfaﬁﬁﬁmmfﬁmﬂm'ﬂmmmﬂmé?

(a) /| wmAET nmmmmﬂaﬁwnmqﬁmrama

(bl 93 AWt w1 F=q e 2 W{wrﬂ?ﬁﬁr:ﬁ;mzﬁmmmﬁwwwyfmﬂv
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) Ancient remedips

@ Global brands

et Fafmed] A7 <t i
7 fanffta S wfes = FeArt 3
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(d) to assess the learners
Choose the correct option :
() (a) and (b)

(3) (b), (c) and (d)

{d)- Feremfefeit 1 e
Rt fameq &1 w47 F4 |
1) () 3 (b)
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82, Which of the following resources are relevant to discuss the theme ‘discrimination’ ?
(1) Advertisement of a woman washing clothes in a/eOTMErGal
o

(<) £ Text of Ashokan INscripbions

(33 Universal Declaration 4f Human Rights.
(#) Narrative of B.R. Ambedkar's experie
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